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EDPVR

EDPVR = end-diastolic pressure-volume relationship
 = pressure vs volume in a relaxed ventricle
 => ventricular compliance

decreased ventricular
compliance

ESPVR

ESPVR = end-systolic pressure-volume relationship
 = pressure vs volume in a contracted ventricle
 => ventricular contractility
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Pes

Afterload = Pes / SV => TPR or arterial elastance
 MAP = TPR * CO [MAP = mean art pressure, 
  TPR = total periph resist = SVR, CO = cardiac output]
 MAP = Pes, and CO = SV / T [T = period of cardiac cycle], so
 Pes = TPR * SV / T, thus (Pes/SV) is proportional to TPR
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α1-AR
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β1-AR

nitroglycerin

nitroprusside,
Ca-channel blockers,
PDE inhibitors,
Muscarinic agonists
(different mechanisms)

α-blockers

β-blockers

Ca-channel blockers

Ca-channel blockers,
K-channel blockers

vagus nerve

β-blockers,
digoxin

digoxin,
PDE inhibitors

epinephrine, dopamine

epinephrine, dopamine
NSAIDs

kidney

renin/aldosterone

β-blockers, dopamine

ATIIR

ACE inhibitors,
ARBs

spironolactone,
amiloride,

triamterene

loop/thiazide diuretics


